2.3 Practice Problems A

Draw —135°.
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Find a positive coterminal angle.
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Name a point on the terminal side.
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Find the distance from the origin to that point.
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Find all six trigonometric functions of —135°.
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2. Draw =270°.

Find a positive coterminal angle.
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Name a point on the terminal side.
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Find the distance from the origin to that point.
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Find all six trigonomettic functions of —270°.
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Example: Find the 6 trigonometric functions of @ if 8 is an angle in standard position and the point
(-3,5) is on the terminal side of 6.

3. What is an angle in standard position?
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Extra Practice

5 :
1) If cos@ = 13 and O terminates in quadrant IT1, find sin & andtan @

2) Find all six trig functions of angle x given the point (3,4) is on the terminal side of x.

3) Find all six trig functions of angle x given the point (-1,-2) is on the terminal side of x.

4) Find all six trig functions of angle x given the point (m, n) is on the terminal side of

5) Find the value of the six trigonometric functions of € given (3,-1) is a point on the terminal
side 6.

6) Find the value of the six trigonometric functions of &, given 6 =210°.

7) Find the value of the six trigonometric functions of #, given 6 =180°.

8) Find the value of the six trigonometric functions of &, given siné =% and 6 lies in QIL

9) Find the value of the six trigonometric functions of 8, given cos@ = ;—i— and sin@ <0.

10)Find the value of sin135°, cos (—225)°, and tan 495",
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